
Page 1

A

C

B

EE

KK

LL

F

G

H

I

J

M

N

D

Audi B8 Front Air Spring Kit 
(AA-B8-ASPRING-KIT-F)

A) Factory Top Nut (not included)

B) Factory Top Washer (not included)

C) Factory Rubber Isolator (not included)

D) Factory Upper Strut Bracket (larger than shown here, not included)

E) Upper Air Spring Bolts [(2) 3/8"-16 Thread, 1/2" Length, Black oxide]

F) Aluminum Upper Plate

G) Air Spring

H) Aluminum Lower Plate

I) Spacer Segments (Use one pair to start. You can remove them later 
or add the extra pair depending on your desired ride quality)

J) Lower Flange

K) Lower Air Spring Bolts [(2) Stainless Socket Head Cap Screw 3/8"-16 
Thread, 5/8" Length]

L) Flange Bolts [(2) Stainless Flat Head Socket Cap Screw 1/4"-20 
Thread] Use 1/2" length for no spacers, use 3/4” length for (1) spacer, 
and use 1” length for (2) spacers

M) Air Fitting Elbow [1/4” NPT Pipe Thread to 3/8” Air Line]

N) Factory Strut Assembly (not included). Remove the factory lower 
spring perch bracket by hammering it toward the top of the strut. The 
Lower Flange will rest on the three bumps that protrude from the 
strut housing.



Page 2Audi B8 Front Air Spring Kit Assembly

Install upper strut 
bracket

Apply loctite 
565

Install lower 
strut bracket

Remove 
ABS plug

Remove sway bar bolts
top and bottom

Retorque to 30 ft.lbs
+ 90 degree turn

No port on top side of 
air spring



Page 3Audi B8 Front Air Spring Kit Installation

Remove upper 
spindle bolt

Separate 
spindle

Remove upper 
strut fork bolt Remove lower 

strut fork bolt

Pry strut fork apart

Remove strut fork

Retorque to 30 ft.lbs
+ 90 degree turn

Retorque to 30 ft.lbs
+ 90 degree turn

Retorque to 30 ft.lbs
+ 90 degree turn

Remove plastic cowl
cover

Lift wiper reservoir to
access strut tower bolt



Page 4Audi B8 Front Air Spring Kit Installation

Use a die grinder to 
remove upper bump stop 
mount

BEGIN 
REASSEMBLY

Note: see front sensor 
installation (if e-level) 
before reinstallation

Retorque to 30 ft.lbs
+ 90 degree turn

Remove all 8 strut 
tower bolts

Remove strut isolator nut

Hammer off lower
spring perch

Separate and remove

Slip air spring over
with fitting facing down



Page 5

LEFT
RIGHT

AA

C

B

EE

K

L
L

F

G

H
H

I

J

M
N

D

Audi B8 Rear Air Spring Kit 
(AA-B8-ASPRING-KIT-R)

A) Vehicle Plate Mounting Bolts Flange Bolts [(2) Black Alloy Flat Head 
Socket Cap Screw 1/4"-20 Thread] Use 1/2" length for no spacers, use 
3/4” length for (1) spacer, and use 1” length for (2) spacers

B) Vehicle Plate

C) Spacer Segments (Use one to start. You can remove them later or 
add the extra pair depending on your desired ride quality)

D) Primary Segment

E) Upper Air Spring Mounting Bolts [(2) Stainless Socket Head Cap 
Screw 3/8"-16 Thread, 5/8" Length]

F) Air Fitting Elbow [(1) 3/8” NPT Pipe Thread to 3/8” Air Line]

G) Lower Plate 

H) Lower Plate Mounting Bolts [(2) Black Alloy Flat Head Socket Cap 
Screw 1/4"-20 Thread, 1/2” Length]

I) Air Spring

J) Lower Plate 

K) Locating Cam

L) Lower Plate to Vehicle Mounting Bolt [(1) Stainless Socket Head 
Cap Screw 5/16"-18 Thread, 5/8" Length]

M) Lower Air Spring Bolt [(1) Stainless Socket Head Cap Screw 3/8"-16 
Thread, 1" Length]

N) Locating Cam Bolt [(1) Stainless Steel Flat Head Sckt Cap Screw 
1/4"-20 Thread, 3/4" Length]



Page 6Audi B8 Rear Air Spring Kit Assembly

Use loctite 565

Use outside holes

Passenger side 
assembly shown

Leave this bolt loose
until install



Page 7Audi B8 Rear Air Spring Kit Installation

Remove rear inner
fender liner

Retorque to 30 ft.lbs
+ 90 degree turn

Detach upper 
shock mount

Retorque to 110 ft.lbs
+ 180 degree turn

Detach lower 
shock mount

Note washer between
bushing and mount

Drop shock through 
lower a-arm

Retorque to 30 ft.lbs
+ 90 degree turn

Detach lower sway bar 
mount

Remove coil spring

Use template to mark
two holes



Page 8Audi B8 Rear Air Spring Kit Installation

Use 21/64” drill bit

Install rear air spring
assembly with fitting 
facing the vehicle front

Torque after rotate

Use loctite 262

Assembly must be offest 
toward vehicle front Front 

Optional: Remove rear
bump stop for more drop

Retorque to 26 ft. lbs

Remove upper 
damper nut



Page 9

LEFT

REAR

FRONT



Page 10



Page 11

RIGHT

REAR

FRONT



Page 12



Page 13

Audi B8 Front Height Sensor Bracket Kit



Page 14Audi B8 Front Height Sensor Bracket Kit Assembly

Use shorter sensor 
mounting bolts included 
in kit

Install linkage into the 4th 
hole on sensor 
Note: thick washer

Use washers and nuts

Assemble sensor linkage

Set distance between
joints to exactly 1”

Left Right
Remove this screw 
for some B8 models



Page 15Audi B8 Front Height Sensor Bracket Kit Installation

Torque a-arm bolt
to 37 ft. lbs 
+ 90 degree turn

BEGIN 
REASSEMBLY

Remove factory front
a-arm assembly

Use new a-arm bolt &
washer included in kit

Install washer between
casting and sensor plate

Rotate sensor mount
until bolt touches

Move front arm to be 
level with the rear



Page 16Audi B8 Front Height Sensor Bracket  Kit Installation

Rotate Collar Vertical

Thick Washer

Use 4th Arm Hole

Adjust Collar
To 5”

Washer Between

Supplied
Bolt

Assure
Clearance
At Full 
Compression

1 2

3 4



Page 17

Audi B8 Rear Height Sensor Bracket Kit



Page 18Audi B8 Rear Height Sensor Bracket Kit Assembly

Install linkage into 4th hole 
on height sensor arm
Note: thick washer

Remove 4 arm screws

Rotate shaft 180 degrees Re-tighten 4 arm screws

Use shorter sensor
mounting srews included

Align sensor to bracket
and tighten

Assemble linkage with
no spacer



Page 19Audi B8 Rear Height Sensor Bracket Kit Assembly

BEGIN 
REASSEMBLY

Left Right

Retorque to 30 ft.lbs
+ 90 degree turn

Sandwich lower sensor 
bracket and re-tighten 
lower sway bar link

Leave sway bar bolt 
as original

Slide sensor bracket
washer and nut over bolt

Use thick washer and
loctite 262 on linkage bolt



Page 20



Page 21

Audi B8 Tank Bracket Kit



Page 22Audi B8 Tank Bracket Kit Assembly

Apply loctite 565

Apply loctite 565

Apply loctite 565

Apply loctite 565



Page 23Audi B8 Tank Bracket Kit Installation

Get tank centered and 
clamp straight before 
tightening

Remove lower rear seat

Remove tunk sill cover

Remove cargo hooks

Remove side panels

Remove trunk floor panel



Page 24Audi B8 Tank Bracket Kit Installation

For All Roads and Avants 
use the longer bolts 
included

Bolt tank assembly 
to floor

BEGIN 
REASSEMBLY

Remove plastic hold 
down panel

Cut carpet to get access to 
these holes

Cut carpet
Install tank assembly

Drill through the 
plastic floor panel



Page 25Audi B8 Compressor Bracket Kit Assembly

Audi B8 Compressor Bracket Kit

Mount Compressors

Note: Washer location

Mount the ECU
Mount ECU bracket to
the compressor mount

Loctite 565

Install manifold bolt



Page 26Audi B8 Compressor Bracket Kit Assembly

Tighten manifold

Install VU4

Install compressor
leader hoses

Apply loctite 565
Leave this bolt out for
ground

Install fuse holders Install valve harness
Press until “click”

Mount fuse holder

Remove fuse until 
installation in finished



Page 27

Install VU4

Audi B8 Compressor Bracket Kit Assembly

Mount compressor relay

Wire compressor relay as 
shown in relay instructions

Terminate all grounds
at VU4

Drop compressor
assembly into car 

Use spacers here

Install compressor inlet 
filters



Page 28Audi B8 Compressor Bracket Kit Installation



Page 29

Audi B8 Bulkhead Kit



Page 30



Page 31

 4X .875 

FRONT

REAR

FOLD DOWN

CORNER
#1

CORNER
#2

CORNER
#3

CORNER
#4



Page 32



Page 33Audi B8 Bulkhead Kit Installation

Tape template to the car 
here 

Align edges with fold in 
body

Center punch 4 hole 
locations

Use a unabit to drill (4) 
7/8” holes

Install bulkhead fittings

Install elbows top and 
bottom

Label air lines 
as shown



Page 34



Page 35

Audi B8 TouchPad Bracket Kit



Page 36



Page 37

N
O

TE
: T

he
 c

ha
m

fe
re

d 
ho

le
s 

on
 th

e 
To

uc
hP

ad
 b

ra
ck

et
 th

at
 a

tta
ch

 th
e 

br
ac

ke
t t

o 
th

e 
gr

ill
 m

us
t b

e 
fa

ci
ng

 u
p

G
R

IL
L

B
R

A
C

K
E

T

G
R

IL
L

B
R

A
C

K
E

T

FR
O

N
T

FR
O

N
T

R
E

A
R

R
E

A
R

A
ud

i B
8 

A
ut

om
at

ic
 T

ra
ns

m
is

si
on

To
uc

hP
ad

 T
em

pl
at

e
A

ud
i B

8 
M

an
ua

l T
ra

ns
m

is
si

on
To

uc
hP

ad
 T

em
pl

at
e

e-
Le

ve
l T

ou
ch

P
ad

 M
ou

nt
in

g 
Te

m
pl

at
e

5/
32

”

1/
2”

5/
32

”

1/
2”



Page 38



Page 39Audi B8 TouchPad Bracket Kit Assembly

Use included spacer
washer here

Drill a 1/2” hole into
grill

Remove plastic web 
with wire cutters

Remove plastic web 
with wire cutters



Page 40

Route USB cable from 
trunk

Feed USB cable under 
carpet



Page 41Audi B8 TouchPad Bracket Kit Installation

Pull USB cable through
hole under driver’s seat

Route USB Cable into
console

Route USB cable 
under seat rail



Page 42



Page 43Audi B8 Plumbing and Wiring

Audi B8 Plumbing and Wiring

Use add terminal included
in kit for orange ignition 
wire on terminal 85

Find the relay shown
in passenger rear

Use factory grounding
studs

Use factory grounding
studs

Use factory grounding
studs



Page 44Audi B8 Plumbing and Wiring

Route air line and sensor 
cable to existing wire 
routing

Use elbows to route rear 
air lines from bag towards 
inside of car

Route air line and sensor 
cable with car fuel and 
brake lines

Route front sensor cables Route front air lines

Route rear sensor cables

Route air line from tank Continued...



Page 45Audi B8 Plumbing and Wiring

Route air lines to 
tank

Install main fuse

Continued...

Continued...

Continued...

Continued...

Continued...

OPERATE 
SYSTEM AND 
TEST FOR LEAKS



Page 46Audi B8 Plumbing and Wiring

Stick i-level receiver
under rear bumper

Route i-level wires in
though back of trunk


